
MB602SPO-B MB604SPO-B MB606SPO-B User manual

× 4

2 x M2*2.5 screws for ODD
(2 x screws for spare parts)

 × 10

8 x M3*2.5 screws for device
(2 x screws for spare parts)

EVA foam spacer /
Spacer installation guide

Optional 

 × 10

8 x M3*4 screws for 2.5" HDD /
SSD (2 x screws for spare parts) Drive lD plugs

Note: Please use the included screws to secure the drive(s).

24 x M3*4 screws for 2.5" HDD /
SSD (2 x screws for spare parts)

 × 26

Front View

1 2 1 2 4

(MB602SPO-B)

3 2 3 4

(MB604SPO-B)

1 2 1

MB602 & MB604

MB606SPO-B

MB602 & MB604 MB604 & MB606

     

1

3

5

2

4

6

(MB606SPO-B)

Drive Tray Ejection Button
LED Indicator (Device power: solid green light; Drive access: flashing green light)
Slot for Drive ID Plug
(Ultra) Slim ODD Bay Dust Cover Plate / (Ultra) Slim ODD Slot   

4

Rear View

41 3

1 3 2 4

（MB602SPO-B) （MB604SPO-B)

（MB606SPO-B)

2.5寸硬盘安装步骤2.5吋硬碟安裝步驟

2.5" HDD/SSD Installation Installation einer 2.5" HDD/SSD

Instalación de unidad de disco duro o unidad de estado sólido de 2.5"
2.5" HDD/SSD取付手順

Installation du disque dur/SSD 2.5"

Push the drive tray ejection button to 
eject the drive tray.

3-1.1 3-1.2

The drive tray latch will pop open once
the drive tray ejection button is pushed.

1 2 4 3

1 1

4 1 2 3 4

4 1

1 2 3 4

3

4

3

3

2 3 4

4

1

1

2

2

3 Pin Fan Header Port3 7 Pin SATA Port 4
15 Pin Power Port1 Fan Speed Switch Control2

1

3-1.4
SSD

HDD

3-1.5 M3*4 screw 3-1.6

3-1.3

Pull the drive tray out from the device. y, be 
’s connector is located 

Flip the drive tray and drive upside down 
and insert the 2.5" drive into the tra
sure that the drive
at the rear of the tray.

Use the included M3*4 screws to secure 
the drive onto the tray, then flip the tray 
back to the top side.

Insert the drive tray all the way into 
the device.

Note: 
The 2.5" HDD/SSD installation of MB604SPO-B and MB606SPO-B is 
similar to MB602SPO-B, except step 3-1.4 and 3-1.5 which will be 
illustrated in the following section.

3-2.4

Use the included M3*4 screws to secure 
the drive onto the tray, then flip the tray 
back to the top side.

Please do not discard the removed screws,
as it is for SSD/HDD mounting purposes. 

Please do not discard the removed screws,
as it is for SSD/HDD mounting purposes. 

3-3.4 3-3.5

Use the included M3*4 screws to secure 
the drive onto the tray, then flip the tray
back to the top side.

M3*4 screws

M3*4 screws3-2.5

2.5" SAS/SATA SSD/HDD & (Ultra) Slim ODD Backplane Cage

Copyright © ICY DOCK International. All Rights Reserved. 6502702 VER 3.0

ToughArmor

MB606SPO-B
6 x 2.5" + Ultra Slim ODD

MB602SPO-B
2 x 2.5" + (Ultra) Slim ODD

MB604SPO-B
4 x 2.5" + (Ultra) Slim ODD

Cremax Europe GmbH

Weidenweg 21H

47059 Duisburg, Germany

Email: support@icydock.com

スリムタイプ ODDデInstallation de lecteur Ultra Slim ODD / Slim ODD
Laufwerk installieren Installation de lecteur de disque optique ultrafin

9.5mm / 12.7mm超薄型 / 薄型光碟機安裝步驟バイスの取付手順
笔记本光驱安装步骤

Ultra Slim  / Slim ODD Installation Optisches Ultra Slim / Slim 4

OPTIONAL: Installing Drive ID Plugs
To install Drive ID Plugs, gently twist off the 
plug from the Drive ID Plugs mold and insert it 
into the drive ID plug slot in front of the tray. 

1

MB604SPO-B & MB606SPO-B Only

1

2

Please paste the EVA foam spacer along the arrow pointed edge, 

and avoid paste onto the front faceplate of ODD

Please paste the EVA foam spacer along the arrow pointed edge, 

and avoid paste onto the front faceplate of ODD

Use the provided ODD spacer installation guide 
to correctly install the EVA foam spacer on top 
of the Ultra Slim ODD.

Optional: Ultra Slim ODD spacer installation for MB602SPO-B & MB604SPO-B 

1. Place the ODD spacer installation guide on top 
of Ultra Slim ODD (as shown in the picture). 

2. Follow the ODD spacer installation guide and then 
attach the EVA foam on the Ultra Slim ODD. 

4-1.1 4-1.2

To remove the ODD dust cover, push 
the tab to the right to unlatch.

Unscrew the screw on the front panel to 
remove the ODD bracket.

Slim ODD

4-1.3 4-1.4
 M2*2.5 pan head screw

 Slim ODD
 Ultra Slim ODD

Remove the ODD bracket from the 
device.

Use two M2*2.5 screws to secure slim 
ODD onto the ODD bracket.

Push

Insert the ODD bracket back into 
the device. 

4-1.5 4-1.6

To secure ODD device, tighten the screw 
on the front panel.

4-3.54-3.4

Note:
In order to provide sufficient power to device, we suggest to use power 
cables that are not shared with other devices.

 

Use two M2*2.5 screws to secure slim 
ODD onto the ODD bracket.

Ultra 
Slim ODD

 

 

Note: 
The Ultra Slim / Slim ODD installation of MB602SPO-B & MB604SPO-B 
is similar to MB606SPO-B except step 4-1.4 and 4-1.5 which will be 
illustrated in the following section.

ICY DOCK reserves the right to change product specifications, components, or 
accessories without prior notice. For the warranty information, please visit 
www.icydock.com/warrenty.php


